| TranSender

Installation Guide Kia Sorento 11/27/08
Note: Drilling into body is required. Some hardware may not be used.
Qty. Description Qty. Description
Installation 2 Running Boards 6  Step Supports #3124F
Parts List: Foam Tape Strips 12 5/16" x 3/4" Washer Head Bolts

12 5/16" Washer Head Nuts
36 #14 x 3/4" Self-Drilling Screws

T QT

A

B 2

C 2 Step Pads
D 6 Flat Brackets #FL82

Tools Required: 5/16" Drill 1/2" Hex Socket *  1/2" Wrench ¢  5/16" Nut Driver *  3/8" Nut Driver

FL82

Front Wheel Well v g\
F7 L~ F&7 .

e ] [

~ - 3124F

N,

-
-t

- 14" 38-1/2" 58"

2. Use four #14 x 3/4" screws to attach FL82. 3. Assemble bracket components with 5/16" nuts and bolts as
shown. Do not tighten at this time.

Foam Tape \\ N

Peel Off
Tape Backing

I i ‘
(2)#14 X3/4" § i

4. Clean surface prior to attaching tape and step pads with 5. Secure step support bracket to bottom of board using two #14
denatured alcohol. Apply foam tape to top lip of board. x 3/4" self-drilling screws per bracket. Tighten all bolts to
Position step pad on stepping surface. Peel off tape backing 18 foot pounds.
starting with rear strip. Keep pad in position, peel off backing
then apply pressure to top of pad to stick tape to board.

Continue above steps for all tape strips.

IN374 _11/27/08

Owens Products * 1107 Progress Street - Sturgis, Ml 49091 - 269-651-2300 - Toll-Free: 800-726-9367 + Fax: 269-651-9326 - Web: www.owens-pro.com




